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NEW QUESTION 1

DRAG DROP

An engineer is implementing NetFlow on a Cisco Nexus 7000 Series Switch.

Drag and drop the NetFlow commands from the left into the correct order they must be entered on the right.
Select and Place:

NTE-1{config)# interface <interface=>

N7E-1(config-if)# ip flow monitor NetflowMonitor input Step 1

NT7K-1(config)# feature netflow Step 2

NTK- lfcunﬁg,‘l#—_lﬂuw exporter ‘;‘Getﬂmuh-{u!litor Step 3
N7K-1(config)# flow record NetflowMonitor

N7K-1{config)# flow monitor NetflowMonitor Step 4

A. Mastered
B. Not Mastered

Answer: A

Explanation:

N7K-1(config)# interface <interface>

S . oo T - : -
NT7K-1(config-if)# ip flow monitor NetflowMonitor input NTK-I(config)# feature netflow

N7K-1({config)# flow exporter NetflowMonitor

BRI contigh fratuts netllow N7K-1(config)# flow record NetflowMonitor

N7K-1(config)# flow exporter NetflowMonitor
N7K-1(config)# flow record NetflowMonitor

N7K-1(config)# flow monitor NetflowMonitor

N7K-1(config)# interface <interface>

BT Reconfi ooy monitor Netfiowhionibor NTK-1(config-if)# ip flow monitor NetflowMonitor input

NEW QUESTION 2
Which virtual MAC address is the default for HSRP version 2 group 10?

A. 0000.5E00.0110
B. 0000.0C9F.FO0A
C. 3716.1350.1C0A
D. 0000.0C9F.F010

Answer: B

NEW QUESTION 3
Refer to the exhibit.

Start time: Mon Apr 15 09:23:01 2019

Last election time: Mon Apr 15 09:24:24 2019

aA: UFP, PRIMARY

B: UP, SUBORDINATE

A: memb state UP, lead state PRIMARY, mgmt services atate: UP
B: memb atate UP; lead state SUBORDINATE, mgmt services state: UP
heartbeat state PRIMARY OK

INTERMAL MNETWORKE INTERFACES:

ethl, UP

eth2, UP

HA NOT READY

No device connected to this Fabric Interconnect

What must be connected to clear the HA NOT READY status?
A. Layer 1-Layer 2 ports

B. server chassis

C. management ports

D. network uplinks

Answer: B

NEW QUESTION 4

Which adjacency server configuration makes two OTV edge devices located in the same site bring up the dual- site adjacency?

A.
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Nexus-1:

interface Ethernetl/2
ip address 20.1.1.1/24

interface Overlay200
otv use-adjacency-server 20.1.1.2 unicast-only
otv join-interface Ethernetl/2

Nexus-2:

interface Ethernetl/2
ip address 20.1.1.2/24

interface Overlay200
otv use-adjacency-server 20.1.1.1 unicast-only
otv join-interface Ethernetl/2

- Nexus-1:

interface Ethernetl/2
ip address 20.1.1.1/24

interface Overlay200
otv adjacency-server unicast-only
otv join-interface Ethernetl/2

Nexus-2:

interface Ethernetl/2
ip address 20.1.1.2/24

interface Overlay200
otv join-interface Ethernetl/2
otv adjacency-server unicast-only
otv use-adjacency-server 20.1.1.1 unicast-only

- Nexus-1;

interface Ethernetl/2
ip address 20.1.1.1/24

interface Overlay200
otv adjacency-server unicast-only
otv join-interface Ethernetl/2

Nexus-2:

interface Ethernetl/2
ip address 20.1.1.2/24

intevrface Overlay200
otv adjacency-server unicast-only
otv join-interface Ethernetl/2
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Nexus-1:

interface Ethernetl/2
ip address 20.1.1.1/24

interface Overlay200
otv use-adjacency-server 20.1.1.1 unicast-only
otv adjacency-server unicast-only
otv join-interface Ethernetl/2

Nexus-2:

interface Ethernetl/2
ip address 20.1.1.2/24

interface Overlay200
otv use-adjacency-server 20.1.1.2 unicast-only
otv adjacency-server unicast-only
otv join-interface Ethernetl/2

Answer: B

NEW QUESTION 5
The engineer must configure SPAN on a Cisco Nexus 5000 Series Switch to get a capture of the traffic from these applications for an in-depth packet analysis.
Which two SPAN characteristics must be considered? (Choose two.)

A. SPAN source ports can be monitored in multiple SPAN sessions.

B. The Ethernet, FC, vFC, port channel, SAN port channel can be used as SPAN source ports.
C. A SPAN source port cannot be a destination SPAN port.

D. Only Ethernet, FC, vFC, port channel port types can be used as SPAN source ports.

E. The rx/tx option is available for VLAN or VSAN SPAN sessions.

Answer: BC

NEW QUESTION 6
Refer to the exhibit.

switch(config)# interface Ethernet 2/2
switch(config)# ip address 172.23.231.240/23
switch(config)# ip verify unicast source reachable-via rx

What is configured as a result of running these commands?

A. loose unicast RPF

B. strict unicast RPF

C. IP Source Guard

D. reverse lookup for outbound packets

Answer: B

NEW QUESTION 7

A customer has a requirement to deploy a cloud service and needs to have full control over the underlying OS, data and applications.
Which cloud model meets this requirement?

A. MaaS

B. PaaS

C. SaaS

D. laaS

Answer: D

NEW QUESTION 8
Refer to the exhibit.
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Mexus# show vpe peer-Keepalive | | Keepalive
—Keepalive interval : 1000 msec

—Keepalive timeout : 5 seconds

~Keepalive hold timeout : 3 seconds
—Keepalive vif : management

—-Keepalive udp port : 3200

—Keepalive tos : 192

Nexus# ethanabvzer local interface mgmt limit-captured-frames 1000

Capturing on mgmud

2019-06-15 12:01:51.242597 192.168.254.11 -> 192.168.254.3 ICMP Echo (ping) request

2019-06-15 12:01:51.242860 192,168.254.3 > 192.168.254.11 ICMP Echo (ping) reply

2019-06-15 11:50:15.975474 192.168.254.1 -= 192.168.254.3 TCP 47340 > bootps [SYN] Seq=0 Win=1024 Len=0 MS5=1460
2019-06-15 11:50:15.975547 192.168.254.3 == 192.168.254.1 TCP 29 = 47540 [R5T, A CK] Seq=1 Ack=1 Win=0 Len=0
2019-06-15 11:50:15.975564 192.168.254.1 == 192.168.254.3 TCP 47540 = 44 [SYN] Seq=0 Win=1024 Len=0 MS55=1460
2019-06-15 11:50:15.975024 192.168.254.1 -> 192.168.254.3 TCP 47540 = discard [SYN] Seq=0 Win=1024 Len=0 M55=1460
2019-06-15 11:50:15.976027 192.168.254.1 -= 192.168.254.3 TCP 47540 = 97 [SYN] Seq=0 Win=1024 Len=0 MS5=1460
2019-06-15 11:50:15.976381 192.168.254.1 -> 192.168.254.3 TCP 47540 = 35 [SYN] Seq=0 Win=1024 Len=0 MS55=1460
2019-06-15 11:50:16.661845 192.168.254 3 - 192.168.254.4 UDP Source port: 3200 Destination port: 3200

2019-06-15 11:50:16.853248 192.168.254.4 == 192.168.254.3 UDP Source port: 3200 Destination port: 3200

2019-06-15 11:50:17.326253 192.1658.254.1 - 192.168.254 .3 55H Encrypted request packet len=52

2019-06-15 11:50:17.327313 192.168.254.3 == 192.168.254.1 55H Encrypted response packet len=1348

2019-06-15 11:50:17.377246 192.168.254.4 == 239.255.70.83 UDP Source port: 7546 Destination port: 7546

2019-06-15 11:50:17.552215 192.168.254.1 - 192.168.254.3 TCP 14139 > ssh [ACK] 5eq=365 Ack=1127T Win=63546 Len=0
2019-06-15 11:50:17.661764 192.168.254.3 -= 192.168.254.4 UDP Source port: 3200 Destination port: 3200

2019-06-15 11:50:17.653242 192.168.254.4 == 192.168.254.3 UDP Source port: 3200 Destination port: 3200

2019-06-15 11:50:17.872637 8c:60:4aazc2:e1 - 01:80:e7:00:00:0e LLDP Chassis : d = 8e:60:41:aa:¢2:el Port Id = mgmt0 TTL = 120
2019-06=-15 11:50:08.173056 192.168.256 3 -> 192.168.254.2 NTP NTP client

2019-06-15 11:50:08.173256 192.168.256.2 -> 192.168.254.3 NTP NTP server

2019-06-15 11:50:16.761147 00:8e:73:a2:41:13 == 01:80:¢2:00:00:00 STP Conf. Root = 8192/10/ecie] :a9:df6¢:80 Cost = 22 Port = 0x8013

A flapping link issue has been reported on the vPC keepalive link. A packet capture has been activated on the Cisco Nexus switch. What is the destination IP

address of the vPC keepalive packets that are sent by the switch?

A.192.168.254.4
B. 192.168.254.1
C. 192.168.254.2
D. 239.255.70.83

Answer: A

NEW QUESTION 9
Refer to the exhibit.

Mexus (config)# show checkpoint summary
User Checkpoint Summary

1) Beforeld:

Created by admin

Created at Mon, 15:25:08 31 Dec 2018
Size is 9,345 bytes

Deacription: Hone

Syatem Checkpolint Summary

2) aystem-fm-vrrp:

Created by admin

Created at Fri, 09:57:02 14 Jun 2019
Bize i= 20,865 bytes=

Description: Created by Feature Manager.

3) aystem-fm-hsrp engine:

Created by admin B

Created at Fri, 09:57:28 14 Jun 20189
Size is 20,852 bytes

Description: Created by Feature Manager.

What is the reason the system-fm-vrrp checkpoint was created?

A. The VRRP process crashed and the checkpoint was automatically created.
B. The VRRP service restarted and the checkpoint was automatically created.
C. The network administrator manually created it.
D. The VRRP-enabled feature has been disabled.

Answer: D

NEW QUESTION 10

What are two capabilities of the Cisco Network Assurance Engine? (Choose two.)
A. It validates that devices comply with network security policies.

B. It predicts the impact of changes to the network.

C. It predicts the network load on a data center.

D. It ensures that network performance meets an SLA.

E. It verifies the speed of network packet flows by using telemetry.

Answer: AB

NEW QUESTION 10
What is an advantage of streaming telemetry over SNMP?
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A. on-change traps sent to a receiver

B. periodic push-based subscription messages
C. periodic polling of the device status

D. MD5-based authentication on polling

Answer: B

NEW QUESTION 13
Which action must be performed before renumbering a Cisco UCS chassis?

A. Run the shut and no shut command on the connected ports.
B. Move the chassis to new ports on fabric interconnect.

C. Decommission the chassis.

D. Re-acknowledge the chassis.

Answer: C

NEW QUESTION 15
An engineer is implementing an import operation in Cisco UCS Manager.
What is the impact of performing this operation?

A. Information can be modified on the management plane only.

B. A configuration can be imported from a higher release to a lower release.

C. An import operation can be scheduled.

D. Only a configuration file that was exported from the same Cisco UCS Manager can be imported.

Answer: A

NEW QUESTION 16
An engineer wants to create a backup of Cisco UCS Manager for disaster recovery purposes.
What are two characteristics of a full state backup of a Cisco UCS Manager database? (Choose two.)

A. contains all of the runtime states and statuses but not the configurations
B. performs a complete binary dump of the database as a .bin file

C. performs a complete binary dump of the database as a .sql file

D. performs a complete binary dump of the database as a .txz file

E. contains all of the configurations

Answer: BE

NEW QUESTION 19

An engineer is seeking the most optimal on demand CPU performance while configuring the BIOS settings of a UCS C-series rack mount server.

What setting will accomplish this goal?

A. C6 Retention

B. C6 non-Retention
C. C2 state

D. CO/C1 state

Answer: A

NEW QUESTION 23
Refer to the exhibit.

Praveguisiiss

A gy
Rocal

Which two Cisco UCS components are upgraded as a result of the configuration? (Choose two.)

A. IOMs

B. Cisco UCS Manager
C. board controller

D. adapters

E. BIOS

Answer: AC
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NEW QUESTION 25
An engineer must configure Cisco IMC server management NIC for autonegotiation.
Which setting should be selected?

A. shared LOM

B. Cisco card

C. dedicated

D. shared LOM EXT

Answer: C

NEW QUESTION 29

Where is the withess deployed in a two-node Cisco HyperFlex Edge deployment?
A. to the HyperFlex Edge two-node cluster

B. to Cisco Intersight

C. to a third-party cloud provider

D. to an additional server with network access to HyperFlex Edge

Answer: B

NEW QUESTION 32

When the default firmware package is set to a new version, which type of policy determines the liming of server reboots during the firmware upgrade?

A. diagnostics
B. maintenance
C. local disk

D. BIOS

Answer: B

NEW QUESTION 34

Which command reduces the amount of time it takes to complete the ISSU on a Cisco Nexus 7000 Series Switch that has dual supervisor modules and two 1/O

modules?

A. install all epld bootflash:<image> parallel

B. install all kickstart <image> system <image> parallel
C. install all kickstart <image> system <image>

D. install all epld bootflash: <image>

Answer: B

NEW QUESTION 37
Refer to the exhibit.

show install all impact epld bootflash:n9%000-epld.6.1.2.I3.1.img

What is the outcome of this command when the EPLD is updated on a Cisco Nexus 9000 Series Switch?

A. displays the compatibility of the EPLD upgrade and the image in the bootflash
B. shows a simulated upgrade of the EPLD

C. upgrades the EPLD on the switch disruptively

D. displays the impact of the upgrade on the operation of the switch

Answer: A

NEW QUESTION 39

Multiple roles are applied to a user on the Cisco MDS 9000 Series Switch.
Which statement is true?

A. The last role assigned takes precedence over previous roles.

B. Access to a command takes priority over being denied access to a command.
C. Any commands that have conflicting settings between roles are denied.

D. The first role assigned takes precedence over subsequent roles.

Answer: B

NEW QUESTION 43
Refer to the exhibit.
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CISCO-UCS-A# acope org /
forg* # create service-profile Ciscol inatance

CISCO-UCS-A

CISCO-UC3-A Jforgfaservice-prafile® § set bloa-policy biosl
CISCO-UCE-A Jforg/asrvice-profile* § ast boot-policy bootl
CISCO=-UCS-A Jforg/aervice-profile* § set ext-mgmt-ip-state none
CISCO-UCS-A Jforg/aervice-profile® # set hoat-fw-policy ipmi-user%87
CISCoO-UCE=-A JforgSfaervice-profile* # set identity dynamic-uuid derived
CISCO-UCE-A forg/ascvice-profile* # set ipmi-access-profile ipmil
CISCo-UCS-A forg/aesrvice-profile* # aet local-diak-policy locall
CISCO-UCS-A Jorg/aervice-profile® # aet maint-policy maintl
CISCO-UCS=A forg/asrvice- # =et mgmt-fw-policy mgmtl
CISCO-UCS-A Jorg/aervice # met power-control-policy powerl
CISCO-DC3-A forg/faservice- # met scrub-policy acrubl
CISCO-UCS-A Jorg/faervice-profile*® ¥ aet asol-policy soll

CISCO-1UCS forglfaprvice-profile* § set atata-policy atatal
CISCO-1UC forg/saervice-profile® # aet user-label Ciasco

CISCO- Jforg/aervice-profile* # veon-policy veconnpoliey

CISCO- forgfservice-profile® # commit-buffer

CISCo-UCE lorg/aervice-profile §

What is a characteristic presented in the service profile of the UUID?

A. unigue system generated
B. allocated from a UUID pool
C. vendor assigned

D. based on the hardware

Answer: B

NEW QUESTION 45

A Cisco MDS 9000 Series Storage Switch has reloaded unexpectedly.
Where does the engineer look for the latest core dump file?

A. /Imnt/recovery

B. /mnt/core

C. /mnt/logs

D. /mnt/pss

Answer: D

NEW QUESTION 48

In an FCoE environment, for which two sets of data must an interface that implements the PAUSE mechanism always provision sufficient ingress buffer? (Choose

two.)

A. frames that were sent with high credit
B. frames that were sent on the link but not yet received

C. frames that were processed and transmitted by the transmitter after the PAUSE frame left the sender
D. frames that were processed and transmitted by the transmitter before the PAUSE frame left the sender

E. frames that were sent on the link and received

Answer: BD

NEW QUESTION 50
What are two types of FC/FCoE oversubscription ratios? (Choose two.)

A. switch processing power to end-node processing power
B. port bandwidth to uplink bandwidth

C. server storage to end-node count

D. edge ISL bandwidth to core ISL bandwidth

E. host bandwidth to storage bandwidth

Answer: DE

NEW QUESTION 55
Which product includes prebuilt templates that can be used to customize fabric deployments?

A. Cisco Tetration

B. Cisco Data Center Network Manager
C. Cisco ACI

D. Cisco UCS Manager

Answer: B

NEW QUESTION 59

An engineer is implementing NPV mode on a Cisco MDS 9000 Series Switch.
Which action must be taken?

A. NPIV must be enabled on the upstream switch.

B. The FCNS database must be disabled in the fabric.

C. A port channel must be configured to the upstream switch.

D. All switches in the fabric must be Cisco MDS switches.

Answer: A

Your Partner of IT Exam

visit - https://www.exambible.com



We recommend you to try the PREMIUM 350-601 Dumps From Exambible
exam blb|@ https://www.exambible.com/350-601-exam/ (439 Q&AS)

NEW QUESTION 63
An engineer must ensure fabric redundancy when implementing NPV mode on a Cisco MDS 9000 Series Switch.
Which action enables fabric redundancy?

A. Use TE ports to connect to upstream switches.

B. Add a port channel to upstream switches.

C. Configure the NPV devices to use an external FLOGI database.
D. Connect the NPV devices to multiple upstream switches.

Answer: B

NEW QUESTION 64

Refer to the exhibit.

N5K-1 (config)#interface fc2/3

N5K-1 (config-if) #switchport mode sd
N5K-1 (config-if) # no shutdown

What is the result of implementing this configuration?

A. The Fibre Channel interface is configured for SPAN.

B. The Fibre Channel interface is configured for source distribution.

C. The Fibre Channel interlace is configured for FSPF.

D. The Fibre Channel interface is configured for synchronization distribution.

Answer: A

NEW QUESTION 67
An administrator needs to configure an automated policy to shut down a link when a given threshold is exceeded on MDS switch. Which feature needs to be used?

A. RMON

B. EEM

C. Call Home
D. Scheduler

Answer: B

NEW QUESTION 69
What is an advantage of using Ansible for automation as compared to Puppet and Chef?

A. Ansible performs automation without installing a software agent on the target node.

B. Ansible abstracts a scenario so that one set of configuration settings can be used across multiple operating systems.
C. Ansible automates the enforcement of configuration settings.

D. Ansible configures a set of CLI commands on a device by using NETCONF.

Answer: A

NEW QUESTION 70
What is required for using Ansible with HTTP/HTTPS protocol in a Cisco NX-OS environment?

A. XML management interface
B. SSH

C. Open Agent Container

D. NX-API

Answer: D

NEW QUESTION 75
What is required for using Puppet in a Cisco NX-OS environment?

A. OpenNP

B. XML management interface
C. NX-API

D. Open Agent Container

Answer: D

NEW QUESTION 80
Which two components should be checked when a Cisco Nexus 9000 Series Switch fails to boot using POAP? (Choose two.)

A. POAP feature license

B. DHCP server to bootstrap IP information

C. image noted in the script file against switch bootflash
D. script signed with security key

E. TFTP server that contains the configuration script
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Answer: BE

NEW QUESTION 83
A POAP-enabled Cisco Nexus switch will not enter POAP mode.
Which two conditions should be verified? (Choose two.)

A. No startup configuration is available.

B. The switch is in bootup process.

C. The license file is missing on the switch.

D. Bootflash must contain a special directory named POAP with poap.py file.
E. No Cisco NX-OS image is present on the bootflash.

Answer: AB

NEW QUESTION 85
An engineer is asked to modify an overridden policy by changing the number of FCNS database entries to 1500 and then generate a message.
What Configuration will accomplish this task?

A. event manager applet fcns_policyevent fcns entries max-per-switch 1500action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM limit
action2.0 policy-default

B. event manager applet fcns_policy override fcns_entries_max_per_switchaction 1.0 syslog priority errors "CNS DB entries have reached the EEM limit" action
2.0 policy-default

C. event manager applet fcns_policy override fcns_entries_max_per_switchevent fcns entries max-per-switch 1500action 1.0 syslog priority warnings msg FCNS
DB entries have reached the EEM limit

D. event manager applet fcns_policy action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM limit action 2.0 event-default

Answer: C

NEW QUESTION 86
Refer to the exhibit.

<?xml version="1.0" encoding="UTF-8"7?><imdata totalCount="1"><error
code="403" text="Token was invalid (Error: Token timeout)"/></imdata>

An engineer configures a new application profile using REST API and receives this error message. Which method can be used before the application profile can
be configured?

A. GET to aaalListDomains
B. POST to aaaRefresh

C. POST to aaalogin

D. POST to aaalLogout

Answer: C
NEW QUESTION 88

A network architect is asked to design and manage geographically distributed data centers across cities and decides to use a Multi-Site Orchestrator deployment.
How many orchestrators should be deployed?

00w
N A WO

Answer: B

NEW QUESTION 89

DRAG DROP

A network engineer must implement RBAC on Cisco MDS 9000 Series Multilayer Switches.

Drag and drop the Cisco MDS 9000 Series roles from the left onto the correct categories on the right.
Select and Place:
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System Defined
san-operator
global-admin
server-admin
storage-admin
User Defined
network-admin
network-operator
A. Mastered
B. Not Mastered
Answer: A
Explanation:
System Defined
san-operator
network-admin
global-admin -
‘ network-operator
server-admin .
‘ server-admin
storage-admin
User Defined
network-admin san-operator
network-operator storage-admin
global-admin

NEW QUESTION 93

An engineer must configure RBAC in Cisco UCS Manager in an existing data center environment.

Which two roles can be used to configure LAN connectivity policies? (Choose two.)

A. server-profile
B. network-admin
C. operations

D. enable

E. admin

Answer: BE

NEW QUESTION 95
An engineer is enabling port security on a Cisco MDS 9000 Series Switch.
Which feature of enabling port security on a Cisco MDS 9000 Series Switch must be considered?

A. It can be distributed by using Cisco Fabric Services.

B. It authorizes only the configured SWWN to participate in the fabric.
C. It always learns about switches that are logging in.

D. It binds the fabric at the switch level.

Answer: A

NEW QUESTION 99

DRAG DROP

An engineer is implementing security on the Cisco MDS 9000 switch.

Drag and drop the descriptions from the left onto the correct security features on the right.
Select and Place:
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Fabric Binding

can be distributed via fabric services
Target 1

uses the Exchange Fabric Membership Data protocol
Target 2

allows a preconfigured set of Fibre Channel devices
to logically connect to SAN ports

Port Security

prevent unauthorized switches from joining the

fabric or disrupting current fabric operations Target 3

Target 4

A. Mastered
B. Not Mastered

Answer: A

Explanation:

can be distributed via fabric services F_abn cm

uses the Exchange Fabric Membership Data protocol

uses the Exchange Fabric Membership Data protocol

| allows a preconfigured set of Fibre Channel devices |
1 to logically connect to SAN ports

allows a preconfigured set of Fibre Channel devices

to logically connect to SAN ports

- | Port Security
prevent unauthorized switches from joining the |

fabric or disrupting current fabric operations can be distributed via fabric services

| prevent unauthorized switches from joining the
fabric or disrupting current fabric operations

NEW QUESTION 104
What is a feature of NFS?

A. zone-based access control

B. Kerberos-based security model
C. block-based file access

D. role-based access control

Answer: B

NEW QUESTION 105
Port security is enabled on a Cisco MDS 9000 Series Switch.
Which statement is true?

A. Port security can be enabled only globally and affects all VSANSs.

B. Any devices currently logged in must be added manually to the device database.
C. Auto-learning is always enabled automatically when port security is enabled.

D. Cisco Fabric Services must be disabled before enabling port security.

Answer: C

NEW QUESTION 107

When a strict CoPP policy is implemented, which statement describes an event during which packets are dropped?
A. A large system image is copied to a switch by using the default VRF.

B. Fifteen SSH sessions remain connected to the switch.

C. A ping sweep is performed on a network that is connected through a switch.

D. A web server that is connected to a switch is affected by a DDoS attack.

Answer: D

NEW QUESTION 110
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